www.0ldColemanParts.com

- Not Available ,
DO o+ ' PARTS LIST

oo 139, 152, 152A

AR-—101-324 GASOLINE AND KEROSENE
; TWO MANTLE

| £5112-32310 COLEMAN LAMPS

|| nss3a2z |

| 129 - 3651 |
¥ Not Available} .

139 -3991 Not Available (- -—235-310

152A 3991
N rpn ﬂ"—6°5 -210
See Detail “A ' 118B2181

021A3101 Qﬁ' 2205891

152A6571 129 - 3531
See Detail /A"’ Not Avail. {=——118A3041

Not Available

-—118B2381

407 - 6491 MQA- .- 1189D0604
ﬂ412 - 249 f’ﬂ‘r‘
o8 /
’iﬁ@ ~-118 B 6201 é

220B619
220-175

=132 - 147 3
=, Not Avail. } \3

118B 1361 152 - 6531 -—132-1481

220 - 6361 -143 - 144 L‘l139-6531
'|059D1004} 152A6531

216 - 5091 Not Available

1112400203@1

x . 1. D N DETAIL A"
242 - 550 220C1401 200 - 533

4

Model 139
(Discontinued)

152A 1651 — Not Available " 200A5201

(@ Quantity of Parts Used in Assembly

MODEL FINISH FUEL
139 Ivory & Gold Kerosene or Gasoline
152 Ivory & Gold Kerosene or Gasoline
152A Ivory & Gold Gasoline i :
Model 152, 152A |

(Discontinued)

s

17 - 058 Mach. Screw — Replaced by 220-175 152A3991 Burner Ass'y.........ovivuniiniinann. 152 |
021A3101 021A Mantle 152A6531 Stem Ass’y — Not Available.............. 152A |
101-324 Burner Tube 152A6571 Valve (Less Generator) — Not Available. . .152A
112-3231 Burner Cap and Screen 200-533  Air Stem
118A3041 Eccentric Block 200A5201 Pump Plunger Ass’y
118B1361 Filler Cap Gasket — Used only with obsolete 202-476  Screw — Replaced by 1059D1004
220B1401 216-5091 Pump Cup
118B2181 Gas Tip (Marked V") 220-175  Self-Tapping Screw (#4—40 x %¢”)
118B2381 Needle Ass’y 220-6361 Filler Cap Gasket and Disc Ass’y
118B3221 Air Intake Tube................ ... . ... 152A 220B3261 Mixing Chamber with Screw
118B6201 Valve Stem Packing 220B619  Direction Disc
129-3351 Globe Clamp (Pk’d 2) 220C1401 Filler Cap Complete
129 -3531 Tip Cleaner Stem — Not Available 220E5891 T44DL Generator
129-3611 Final Ass’y 235-310 Preheater Cup — Not Available.......... 139, 152
129-3651 Air Intake Tube — Not Available......... 139, 152 242-550 Filling Can...........cooiiviinnn... 139, 152
132-147  Handle Nut — Not Available 242B532  Air Stem — Replaced by 200-533
132-1481 Tube Ass’y (Fuel and Air) 242B5381 Check Valve
132-355 355 Globe ’
139-3991 Burner Ass’y — Not Available. . .......... 139, 152 :?;';:;l \\;""'e ! (Black)~:.coovvvreceneess 152A
139-6531 Stem Ass’y — Not Available. . . 139 - alve Wheel.......................... 139, 152
y .
143 - 144 Handle 605-210 Jamb Nut
152-145  Handle — Replaced by 143-144 1059D1004 Machine Screw (#10—32 x %4” Rd. Hd.
152-6531 Stem Ass’y — Not Available............. 152 Nickel Plated Br.)
152A1651 Fount Complete — Not Available......... 152A and with 1124D0203 Sheet Metal Screw (#2 x %" Bd. Hd.
gasoline ONLY Type Z)
on 139, 152 1189D0604 Self-Tapping Screw (#6—32 x 1%4”, Type F)

1
www.0ldColemanParts.com : RESHINN L



	Page 1

